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I. Not Missing the Boat Questions

1) (Based on "w9) 0°:17nK that have the following issues are comparable to which 179771 *12°0 in
an animal?

1) 7%

2) P01

3) 3p1

4) mno

2) Is an w12 270K acceptable for a°1on "7 mxn?

3) (Based on &7n3/°"w7) What is an 101277 27n&? According to whom is/isn’t an 701277 270K
acceptable to use for 2°1» '7? What is the basis/reasoning for the 17?7

4) Reuven likes to sell customized 2°x17nX. So he grows his 2°2170X in specially designed molds
that give each 217nX a unique shape. Are Reuven’s 0°117nX acceptable for 0°1°n '7 Mxn?

5) (Based on ") Can an 270K that’s 701 be used for o°1n '7? What'’s the basis for the 177

II. nw7 that Emerge from the 07 Questions

1) Reuven’s wife thought that the 2 2°217nX on the table were lemons, so she pickled one and
cooked the other. Can the 210X still be used for 11 "7 MxXn?

2) (Based on »"w") Is it necessary to take off "wyn from 22170k and o°man that were picked off
the tree prematurely? What’s the reasoning for the 17?

3) (Based on *"w1) What’s the potential issue with bringing m>111p» 2°3ax into the X037 n°2 on
Shabbos? And what’s the reason we disregard this issue?
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III. The npown List with Questions

27°1 ON...R1°10 PTOION 7'
- According to N0, under what circumstances is an 170X with a 21 invalid? What’s the
reasoning for the 1"7?

DT A%AR WhHW nawa "7
- According to m»on, what would be the potential issue(s) with bringing Mm% pn 2°1a8
into the 0271 N2 on Shabbos?
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